One more and One Less

T T ey = bR | L

| moee

YV

is less than

I I is equal to
%lIf

—

is more than

Vocabulary@
213456 7]8]9]10]]
11112131415/ 16|17]18]19]|20]| °™°
21122123 24125126|27128[29] 30 Z:::::sre
31]32|33]34|35]36|37]38]39[40| | ..o
41|42\ 43| 44| 45]46]47[48[49]50|| o than
1 moM 1 |essU less than
fewer
33 < 39 27 > 19 most
33 is less than 39 27 is more than 19
least

Representing Numbers

Partitioning
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twenty five

2 tens and 5 ones

There are 4 tens. There are _5_ones.
The number is 45
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